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1. This paper consists of sections A, B, and C.

2, Read the instructions given under each section
very carefully.,

3. The marks intended for section A and for each
question in sections B and C gre indicated in
brackets.

4. Remember to write your Examination Number on

every page of your answer book provided.
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For each question

A

» Choose and write the ielter of the Most correat or

best answer in the answer book provided,

(i) The most probable valency of an element ANOSE alomic number is
P2is
AL o}
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G exposure to the gir becomes covered with a liquid i

AL eiflorescent

, €3, deliques

cent

C. hygroscopic

D.  hydrocytic

] Cne disadvantage of haprd water is that it

A, contains mineral salts which are harmful to the body
=

. Causes |

Ncreased tooth decay

C. causes corrosion of water pipes

Tequires more soapn for washing,

. L 3 . o ~ .
(ivi “v.lem” of nitrogen at 28% and 710mmHg are converted to S, T, P,
Tre new volume of nitrogen is
A, Al om”
e 3
3. 29, %m
3
C. 2B, 2cm”°
ol K, 3
- D, 25, 5cm
{7 DOne of the following substances js commonly used to determine the
arrangement of metals in order of their reactivity ‘

-A. water

- AR

B. any saflt /.-g-
: oy
C.  any nopn-metzl ’ oA

D. - aluminium hydroxide,

3




(vi) A black powder, when heated alone, gave oxvgen and a yellow resjdue,

When heated with concentrated hydrochloric acid, chiorine gas was
evolved. The black powder was

A. powdered charcoa!

-B. lead oxide

C. cupric oxide

D, manganese dicxice.
{vii) Before using a burette, it should be prepared by washing it with

A, dilute bench acid, then water
B, cold water only -
C. hot, ithen cold water

D. water, then the solution ic be used,

(viii) A standard soiution of potassium hydroxide contains

-

A, 17g of hydrdxyl iong per given volume
B. one-equivalent of hydroxyl ions per litre
“C. a known weight of alkali in a given velume

D. one molecular weig'ht‘of alkali per litre,

(ix) An example of a homologous series is feund in the following

&, acetylene, ethylene, ethane
~B. propane, butane, pentane
C. charcoal, graphite, diamond

D. glucose, fructose, sucrose

{(x) A guantity of electricity is measured in

C A, amperes
_B. coloumbs
C. wolts
D. watts
(xi}  An acid liquid when treated with copper’, gave-a colourless gas which

turned brown, :When treated with marble chips, it gave carbon dioxide,
The acidic liquid was R o

A. concentrated nitric acid:,

=9 bvdi lute su‘iphurv‘_ic aci:d. :

C.. concentrated sulphuric, acid,



{xii) Substance B has a percentage compositior: of 54, 6% carbon, 9.1%
hydrogen, 16, 3% oxygen. The empirical formula of substance B is
‘A, CTH,O “
N, () 2
. Q
B CHQ

C. CZHAO

D. C2H6O
( {xiii) Most salte have comparatively high melting points because they have
A. crystalline structure
8. low pressures
C. high specific heats

strong electronic attrections between jons.,

Q

{viv) The balanced equation for the reaction: NH:5 + Oz;--———awNO + 6HZO
is

A. 4NH, +50, ——m———gm 4NO o+ 6-HZO

B. 3NH, +20, —&» 3NO..+ 6H,C

C. 2NH, +30, ———& 2NO + 6H,0

D. NH, +40, ——= NO + 6H0

‘(xv] A henls egg shell contains calcium

A, sulphate. . : . .
B. carbonate
C. chloride -

D, nitrate

(xvi}  The most abundant metal in the earthls crust is
A. L iron
B. aluminium

c.  calcium®¥

D. "“‘sc&_diﬁn{'?

T

ki) o The Kmet;c theory of gase= attempts to explam the behaviour of
gases on the basxs of the : -




(xviii}

(xix)

{xx)

(a)

IS

In a classroom experiment, air was passed over heated copper
turnings in order to obtain some relatively pure nitrogen, Which
impurities wouid you expect to be present in the relatively pure
nitrogen gas which was collected over water ?

A, Argon, water vapour and helium

B. Helium, carbon dioxide and carbor monoxide

C. Oxygen, hydroger and rare gase€es

D. Rare gases, water vapour and carbon dioxide,

In which of the following reactions is a metal reduced but not
oxidisecd 7 -

A, Zn o+ CusO, — 3 Cu + 2ZnSO,

B. HZS + 2FeC13_____..;>.. S + ZFeClz +  2'HCI

C. Fe + S —_—— e FeS

D. Fe203+ ZAl D A|2o3 + 2Fe

The concentration of acetic zcid in vinegar was determined ty
titrating the vinegar with 1,0M sodium hydroxide solution using
phenolphthatein as indicator. it was found that 25cm3 of the
sodium hydroxide solution required 42, Ocm3 of vinegar for

‘complete neutralization, Therefore, the concentration of the

(

(ii)  Lamp black

acetic zcid, in grams per litre, in the viregar was

A. 4gper litre
B. 3gper litre
C. 2gper litre

D. 1g per litre,

Z
[+
n
W]
W
@]
#
N
O
B
(s}
-
X
]
®@
o3f—

(30 marks)

SECTION B

Answer ALL questions inthis section in the answer book
provided,

_State the main raw material and the process mvolved in.the manufacture

of each. of the following products,

(i) Wood charcoal
i) Coke

“Animal charcoal.
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(b) Give two uses for each of the following: e ’
0 A%
4 .
(i) Graphite )
(ii) Diamond. (8 marks)
3. (a) Industrial sulphuric acid is usually labelied as containing 98% of the
acid and having a density of 1,84 ¢g/cm>,
O.y$5
\’m/ (i} Calculate the molarity of this industrial suiphuric acid.
as
A " G’\/‘E/D (ii) Calculate the volume of this industrial sulphuric acid that will
i’é'@\ -be required to prepare Zdm>” of 0, 50M sulphuric acid sclution.
/1./ 5]
qbgio {b) Name the main product formed whern
Sadr | f
(i} Hot concentrated sulphuric acid is added to cane sugar.
{il) Hot concentrated sulpiwric acid is added to ethanol.
- 13 miarks)
4,  With the aid of an equation in each case, record what would be observed
when :
(a) Chlorine gas is passed through potassium bromide sclution in water
(b)  Chlorine gas is busbled through a sotution of iren (if) chloride,
() Ammonia gas is passed through a gas jar containing hydrogen
chloride,
(d) A piece cf sodium metal is dropped into a beaker of water containing
some red litmus paper,
{¢€ marks)
5. (a) On heating, iron combines with sulphur to form iron (ii) sulphide
(i}  Write a balanced chemical equation for this reaction,
(i) Calculate the mass of iron that wili comdire with 70g of sulphur,
(b) Write the electronic configuration of atom A whose atemic numbep is
16‘
) {c} Use the electronic configuration ¢f atom A in (b} above to predict its
(i) wvalency
(i1) ‘period
'(iii,)f.-‘ group
: /lg \ e " (d) ¢ Predict the nature of bond formed (covalent or jonjc) when atom A
“ z6 4 L.--‘* combines vyith
2 Sl A
S 1 .
== &l (i)

~Magnesium

Oxygen.
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SECTION C

Answer question six (6) and any other TWO {2) questions from this
section in the answer book provided, :

6, (a) Distinguish between a fertilizer and an organic manure,

(b)Y  List four {4} steps thet are recquired in the preparation of land ready
for seed growing.,

{c) Give at least four (4) reasors why a fertile soll is not necessarily
productive. '

{d) Your schooi shamba s0il requires 80kg of N per hectare so as 1o
fuliit plant requirensents of N, Calculaie {in kg) the quantity of
arnmonium suiphate { (f\"'r—lb(),)S(_')4 Y fertilizer required to meet this
demnand.

(H=1, 0=18, N=14, S=32) {14 marks)

7. {a) With the aid of balanced chemical squations wherever appropriate,
briefly outline the extraction of Zinc from zinc blende,

(b) Give three {3) main uses of zinc, {12 marks)
"N
8. f(a) Explain what is meant by A 6X% .
| | N - \GAS
-{i} Cracking : e ~1 O . ~
(i) Unsaturated hydrocarbons, /\L :‘1 "} It

(&) ¢ b Sgum | Aiaato

Give two examples of each o

- 636 2
(1)  a sotid fue! Rl ety
A ] -
(i) aliquid fue! /_;_\‘S 5 %9
(i)  a gasmous fue! ’ 13:3,2 :
™ N
{c) Name four (4} characteristics of a gued fuel, C\—JI 0

- | 546

C=}) Complets and balance eacit of the foillowing equations :

(i} 'C,0, + O, —— 3’ Ve

(i CHC13 + ci, uv

(IH‘)-':‘ :'C.2H50H~ + Op —
(iv) * CH,COOH + C,HOH _a, H'
(W) CyHOH 4 Conca H,SO HE

4 L2 A.
, v




a. (a) Define the term g tectroplating!

(b}  "During electrolysis, oxidation and reduction occur at the same time, !!
Briefly explain the validity {truth) of this statement.,

(c) in the electrolysis of copper sulphate, the reactions at the electrodes
are:

Cathode ; Cv12'+ + 27 ————u Cu

Anode 2+ .,0

2 —a O2tg) + aH" o+ 4.

i} Draw a diagr‘an showing the voltameter in this electrolysis.

(i) wWhat volume of oxygen measured at S.T.P. will be liberated
at the anode in the time it will take to plate out 5, 08g 'of copper
onto the cathoce ? g

(Electrochemical equivalent of copper = 0,00033
Gram - Molec tlar Volume (GM V) - 22,4 dm>
1 Faraday = r—==—m————m—mmossss - = 96500 coloumbs)

{12 marks)

10, {a}, Name one key elenent present in all organic compounds.

(b) Giving at least on mxample in each case, briefly explain the meaning
of

(i)Y Addition reac ion

(i1} Substitution reaction
{c) Write a balanced hemical equation for each of the deowing reactions:
(i) Ethanol, c N gCs IS reacted with sodium metal

(ii) Propanol, C. H O, ‘and acetic acid, C,H,0, are warmed together

in the preser ce of concentrdted suiphumc amd.

(d) With the aid of ar equation, in each step, priefly explain how you would
carry out the foll :wmg COhver‘SlunS : A

—-—gstthane _______!@, Ethanol

- Ethene

aceta'lde'_hyde- .-—-—-%— acetlc ac;d ) S (1 marks)




